
-1L=19.7 fb∫=8.0 TeV, sCMS preliminary, 

Transverse mass [GeV]
200 400 600 800 1000120014001600

E
ve

nt
s/

bi
n

-110

1

10

210
ee, =0 jets

Data

ν2l2→ZZ→qq

ν3l→WZ

Top/W/WW

Z+jets

(r=10)ggSBI

(r=10)qqSBI

Transverse mass [GeV]
200 400 600 800 1000120014001600

E
ve

nt
s/

bi
n

-110

1

10

210

, =0 jetsµµ

Transverse mass [GeV]
200 400 600 800 1000120014001600

-110

1

10

210

1 jets≥ee, 

Transverse mass [GeV]
200 400 600 800 1000120014001600

-110

1

10

210

1 jets≥, µµ

Missing transverse energy [GeV]
100 150 200 250 300 350 400 450 500

-110

1

10

ee, VBF

Missing transverse energy [GeV]
100 150 200 250 300 350 400 450 500

-110

1

10

, VBFµµ


